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1. False. Just because a distribution is symmetric doesn’t mean the standard deviation,
or even the mean, exists.

2. False. This is straight from the T/F on the homework.

3. Let Y be the standard normal distribution. Here is a rough sketch of the graph.
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(a) P (10 ≤ X ≤ 12) = P (0 ≤ Y ≤ 1) = z-score for z = 1. The graph should be
shaded from 10 to 12.

(b) P (8 ≤ X ≤ 12) = P (−1 ≤ Y ≤ 1) = 2 ∗ z-score for z = 1, since the normal
distribution is symmetric. The graph should be shaded from 8 to 12.

(c) P (12 ≤ X) = P (1 ≤ Y ) = 1
2
− z-score for z = 1. The graph should be shaded

from 12 onward.

4. Use Chebyshev’s inequality. We want: P (µ − kσ ≤ X ≤ µ + kσ) ≥ 1 − 1
k2

= 0.84.
Solve for k in 1− 1

k2
= 0.84→ 0.16 = 1

k2
→ k = 10
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